Algebra 1 4.7
Find the inverse of a relation
Find the inverse of a linear function

_relatioﬁr‘—"—) (a\s ) Q'—G ) bf g)
e (62) €el) (60

inverse function
domain

range
whiteboards



Fmnd the mverse of each relation

GuidedPractice
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the inverse of each relation.
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Fmnd the mverse of each function:
"What should I expect to see?"

GuidedPractice
3A. f(x) =4x —12 3B. flx) = —x+7
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3. Solve for y=again

X m - q X 4. Relabel f
TRE







.pog)-'-'- Yx 4+ (o §

syYx+b8

X = '-/ T8
-l Y Dlstrlbume‘%lgperty first?
(might be easier)
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Find the inverse of each funttion.

4. f(x) =25 + 4x

16. f(x) = 4(x + 17)
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y= cost C(x)

DOWNLOABS An online music subscription service allows members to download

songs for $0.99 each after paying a monthly send 99. The total
monthly cost C(x) of the service in dollars iC(x) = 3.99 + 0.99x }where x is the
number of songs downloaded. *-

a. Find the inverse function. 9 ~ S.q q <+ o‘ i '; .

b. What do x and C~}(x) represent in the context of the inverse function?

¢. How many songs were downloaded if a member’s monthly bill is $27.75?

> X~ 131+0.99y

X-37 = o.‘i‘lg
cost is a function of # of songs NG a
# songs is a function of cos 0 . q ﬂ O . C‘ ﬁ




y= cost C(x)

21. LANDSCAPING At the start of the mowing season, Chuck collects a one-time
maintenance fee of $10 from his customers. He charges the Fosters $35 for each

- unt collected from the Fosters in dollars for the season is
C(x) =10 + 35x, there x is the number of times Chuck mows the Fosters’ lawn.
~ rind the inverse function.

b. What do x and % epresent in the context of the inverse function?
ny tuck mow the Fosters Tawn if he collected a total of $780

fromthem" e
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Cost is 8 Snctlor?& number of times mowed
# of times mowed is a function of cost
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